BBTHEE
F28M0 EWELTA—ANRIVIEFEXRSE BER

= R ER20% 6H22H (H) 4Hi 9 ~
= 15 ELUEREREEVF—
S m#H 158 & (794 7JJLR)
 H = i £ B2 B 3 {3z
1 & A o o . .
: Bm?) IS - IR (¥ &) FEL  HOTME B AN— ) MR e (B
1 & B i ‘
1 Bgo:r) WHEAESE - JIEBEMRT  (2FE) RIEFEL A« S (VT 1-2) TREA - EREHS  OKE - vy
1 8 C
b KRR - AT BT (BEdd) FAHEINER - il (v BL) AEEN - AREEE Ok B)
91F ~ 110%F)
1 &8 D
(111; ) WEFRRAET- - ifTEE Ok B) VRAET - BREFET (UM - B0 /\E T - KEF+ (% by)
2 & B . . \
g - EEERR (E ) HNE T« FREZE (HOA - )9 7-28)  [IUARRET - GHED22 0 Ok &)
(MF ~ 90%F)
2 & C 3 . \
BIE - REES (1) Hf—% - EEHTF (v b VRN - BEmEEE Ok &)
91F ~ 110%F)
2 &8 D X N B
A11F ) SEETFHA - LT (v BY) MRS - BAEET OKB) HEME T - hPHEENRE (kK B)
3 &R FeH&HoF - wERE R I




1 &

A-1 ( ~T0%) R B R R AN
o | s | g | A SRR
SEARTEL - [ O ET (=¥ %) 0—2(0—2|0—2{0—2[0—4| b5 | GE#H)
NG - JEHE AR (= ) 20 2—-0lo—2|0—2[2—2| 3 2
M E T - WEE L (BHEVT (—R) 2—-0]0—2 0—2]0—2|1—3] 4
ARFERESE - )1 ({17 AK) 2-012—0]2—0 2-0]4—0]| 1
AFEShLE - EARIAL (R 2-0[2-0J2-0j0~2 S_1] 2
A-2 ( ~T0%) R R R Rl R e N
i | ma | g | s | ATH
SHEL U - HERVME (e — | 1—2[2—1]2-0|2—0|3—1] 1
VAT - AR (2—3—) 2—1 1—2|l2—1|2—-0|3—-1| 2 2
KEFH - BERA  OKE) 1—2j2—1 2—1(2—-0]3—1] 3
RAWE - B (FaEvT (-2) 0O—2[1—2]1—2 2—0]1—3| 4
B - pimER (YUyr—=x8) |[0—2|]0—-2|0—2[0—2 0—4| b | )
A<3 ( ~T0F) ey | 58 | s @% 1%3% wee | i 0
A | ey | dpge | FER | OB
PN - IRE O @) 2-0jo—2|2-0/0~2]2—2] 3
FEHEME - PR E T Ok ) 0—2 0—2]0—2/0—2]0—4] 2
T - LREEY (VY r—28) |270[2-0 1-2j0-2]2—-1} o 1
SR RECE (v -n) |0 2]2-0]2-1 0-2|2-2| 4
JERTERE - B EA (RS 2—0{2—0]2—0]2—0 4—0f 1
B-1 (T1F~90F) el B A R I T T
ok | bk | e | R | OO
KIRF A - (R (FadT (—2) 2-0]2-1]2-0]2-0/4-0] 1
FARIT R - Ak B Ok B 0—2 2—-1]0—2]0—2]1—3] 5 0
CHEE - MR (5 ) 1-2j1-2 0—z2]2-1j1-3] 4
RN - RS T UVURVF 4R [0—-2]2-0|0—2 2-1|3—-1] 2
ProvtiF - KRS (FEos—1) |0 2[2-0f1 2|12 1-3] 3
i | ER | F | s | BE | K| "
B-2 (11F~90%F) e | e | zm | | | S | NEAL
BHEEE - JIBERTF  (FEX) 2-0]2-0]2-0]2—0]2—0]5—0] 1
BRET - BAEBT  OKE - vy |02 2-0(2—-0|2—0|2—0f4—1] 2
FEE - HHET W) 0—2|0—2 0—2|2—0[|2—-0[2—-3| 4
WL - WM0AS% (T FB) 0—-2/0—-2[2-0 2-0(2-0[3-2| 3 2
BT - WEET (v b)) |072/0-2]0—-2]0—2 2-0J1-4] 5
D T« PR (EERig) 0—-2|0—-2|0—2[0—2(0—2 0—5| 6 [ G
B S3{LRTEE
0

TR NEAD - RS OVRBVE -R)

BRET - 2RAEHT  OKE - vhy)




C-1  (91F~1103) TR TER e |
i | g | gam | ER
PREIEE - AT T (v b 2-0(2-0]2-0]{3—0]| 1
KT - GHESET (TFB) 0—2 0—2|0—2[0—3| 4 | (GEH)
PR - BRHENE  (2—s3—) 0-2|2-0 2-0[2—1] 2
FEmET - ERENRE VT 41 0—2{2—-0J0—2 1-2| 3
c-2  (91F~110F) G R R T
L N I L
KRFIF - A FE T (R ) 2-112-0]2-0{3—0]| 1
ATy - KBIET  (2—s3—) 1-2 2-0[2—1|2—1] 2
RKEET - HEHOLR (N B) 0—2]0—2 1—-2]0—3| 4
LAACET - MR Ok R 0—2[1-2[2—1 1-2| 3
C-3  (91F~110%) HEE IR VIR e | g
EiE | % | g | A
HOEST - BEme T Ok B) 2-0/2—0]2—1|3—0] 1
MAET - HET (=A™ - v b 0—2 0—2|1—2]0—3] 4
WEIEALE - BEMER T Ok R) 0-2|2-0 0—2|1—-2| 3
EET - BAEE (/A 1—-2]2—-1j2-0 2—1] 2
C-4  (91F~110F) L Il i R S e T
| degt | ko | AT AR
BEHEE - EREN  (BIE - LD 2-0]2-0|2—1|1—-2|3—1| 2
DN S e Sa AN (&) 0—2 2—-1[2-0]0—-2[2—2] 3
BT - AR REAN— ) 0—2|1-2 2-0]0—2|1-3| 4
HETHBT - RIHR v b 1-2/0—2]0—2 0-2|0—-4| 5
HE Bt - AAREE Ok B 2-1[2-0]2-0[2—-0 4-0] 1
e | wok | m | e el so | .
P (-~ iz | wAm | Akt | BR | AR | RAE B | I
FRAET - SRERET (M2 - BEhiy) 2-0]2-0|1—2|1-2|2-0|3~-2] 2
BT - BT Ok &) 0—2 2-0[1—2]0—2[1—2]1—4] 5
RHHOT - KfFEFEEL (2—1—) 0o—2(o0—2 o—2lo—2|lo—2|0—-5| 6
PINZET - FiRFI T GE~— 1) 2-1|2-1|2-0 0-2|0-2|3—-2| 4
W RAET - MEE Ok B 1-2/2-0{2-0|2-0 2—-1[4—1] 1
BRONET - KT (¥ b) 0—2]2—-1|2-0]2-0|1—2 3-2 3
C REEr—FAVF
C 3hRTH:
HEEME - WIET T (S ) 2, a8 A .
ARV - BABEE Ok B) - U 1)
WOEBT - RERET (kB ! R - R
Ok B) 0

KRFF - e TE+ CREFHR)




2 B

- Al | AR | SR [ BRIR | B | . o
B-1  (J1F~9%07) sen | won | e | | ow | PP TR
A E R OESR T (HEYT 4-A) 2—-0]1—2]1—2]1—2[1—3] 4
NAEETE T - FIERE Ok B 0—2 0—-2]0—-2]0—-2/0—4] ©
WA - EEERR 5 &) 2—112—0 2—-0]2—0]4—0] 1
FRIREAR T - AT E - 3= bvi’) 2—1]12—0]0—2 2-0[3—1] 2
WEHEBEE - T (BEHYT 4-A) 2—1]2—0]0—2[0—2 2—2] 3
- B (xRl BT | A | N[ W o
B-2 (11F~90%F) i | | aers | e | o | st I | NEAL
R IR (MuEd) 2—-0]2—-0]0—2]1—2/0—2[2—3] 4
e e RIBEE - WEAKREER  (FHEYT 4-A) 0—2 0—-2[0—-2]1—-2]0—-2[0—5| 6
AT E - LR EE (3-Vybx” - THES) |0—-2[2—-0 0—2|0—2)|1—2/1—4] &
IWAKES - GHEP D Ok B) 2—0]12—0]2—0 1—2]2—-0f4—1) 2
AE S - TERESE FHOAK -V 7-18) 2—1]12—1)12—0]2—1 2—0|5—0] 1
FRELET - HEE (2—) 2—0|2—0|2—1|0—2]0—2 3—2| 3
- BHE | KEE| &8 | B8 | 7k | .
C-1 91F ~110=) Lo | o | oo | wm SRS | AL
HHE - REED  (F () 2—-1]12—-0]2—-0[2—0|4—0] 1
KEERT A « BILEART (R3=vyvbva)) 1—2 2—1(2—0l0—2]2—2] 2 2
LAk - HmE U B) 0—2/1—2 1—2]0—-2/0—4] ©
MR A (U x V) o—2|lo—2[2—-1 2—-0l2—2| 3
iR - A Ok &) 0—-2[2—-0]2—0]0—2 2—2| 4
- R | B[ ORE | | Al | .
Cc-2 91F ~110=) wor | me | g | e | SRS | AL
PP A AL - BILIR T CGBEo— ) 0—2(2—1)10—2]0—2/1—3| 4
B -FEERr Cx L) 2—0 2—-0]2—-0]2—0]4—0| 1
AWE - JLRAE ) 1—-2]0—2 0—-2/0—-2]0—4] 5 0
BB - IR ELTE (VT 4—R) 2—0]0—2]12—0 1—2/2—2] 3
PEHEASE - BEHEMEE Ok &) 2—-0]0—2]2—0]2—1 3—1] 2
- S| RE | B2 | EE| B | £ .
D (111F ) e | e | em | wm | e | T SRS | AL
SHFRT - UBRET (v R L) 2—0|2—0|2—0f2—0]|2—1|5—0| 1
i HE - - BHEBET  OKE) 0—2 2—-0]2—0]2—0|2—1[4— 1| 2
SAMES  HHBETY (22— —) 0—2(o0—2 0—2|2—1l0—2{1—-4| 5
JREE - - PHEERE Ok B 0—2]10—2]12—0 2—0]2—0]3—2] 3
HYCNE T « A7 (2—3—) 0—2|l0—21—2[0—2 o—2lo—5| 6
+EMES - TEHBES (-7 7-28) 1—2]11—2{2—0]0—2]2—0 2—3] 4
Xk D E
B | FEH | KH - .
g | ¥ | ATH e
I - BURHEE  (—/3—) 1—2]2—-0f1—1] 2
feH&HoOT - RS 8 JID 2—1 2—0]2—0] 1
KHEVEE - HEMRE (WEEH) 0—-2/0—2 0—-2| 3
B 3fiikEHk C 3{iREHk 0

IR« A (R3-V4 MVAT) ———

WA - gh Ok %) ———J_

REE -/l (F3-9vMLRY)

A -2 H (K

5)




	成績表
	1部Ａ・Ｂ
	１部Ｃ・Ｄ
	２部Ｂ・Ｃ・Ｄ交流

